
INSTALLATION INSTRUCTIONS

 - (2) RIGID 360 Lights (4 or 6 inch)

- Mounting hardware

PRODUCTS INCLUDE:

WIRING LEADS

RED WIRE = PROJECTING TRIGGER

BLACK WIRE = GROUND

WHITE WIRE = BACK-LIGHTING TRIGGER

360 SERIES

IMPORTANT
THANK YOU FOR PURCHASING RIGID INDUSTRIES’ PRODUCTS FOR YOUR VEHICLE.

Please read through all of these Instructions and tips before proceeding with the installation. 
We do our best to provide a simple installation process for all applications however a 

professional installation is always recommended. 

Always disconnect any power sources connected to your vehicle before servicing fuses or 
electrical systems.

https://www.carid.com/rigid-industries/


INSTALLATION INSTRUCTIONS

Wiring: Wire your lights according to the instructions included with the light. Take care to avoid any heat 
sources and sharp or abrasive surfaces.

Your installation is now complete. 
Welcome to the Rigid Nation!

6” 360-SERIES ASSEMBLY DIAGRAM

A M8x25mm Carriage Bolt Place through bracket
B M8 Flat Washer Place on carriage bolt
C M8 Lock Washer Place on carriage bolt
D M8 Nut Tighten light to bracket
E M6 Ny Lock Nut Place in Heatsink
F M4 Ny Lock Nut Place into mounting bushing
G Mounting Bushing Slide into Heatsink
H M6 Flat Washer Place on J prior to install
I M4 Flat Washer Place on K prior to install

J M6x22mm Socket Head Tighten bracket to the light
(Torque 32in-lbs)

K M4x22m Socket Head Tighten the bracket to the light
(Torque 9in-lbs)

A

B C
D

E
F G H I J K

E F
G

H

I

J

K

4” 360-SERIES ASSEMBLY DIAGRAM

A

B
C

D

E

F
G

H
I

A M8x25mm Carriage Bolt Place through bracket
B M8 Flat Washer Place on carriage bolt
C M8 Lock Washer Place on carriage bolt
D M8 Nut Tighten light to bracket
E M6 Ny Lock Nut Place in Heatsink
F Mounting Bushing Slide into Heatsink
G 6-32x.375” Socket Head Tighten mount bushing to Heatsink
H M6 Flat Washer Place on item I prior to install

I M6x22mm Socket Head Tighten the bracket to the light
(Torque 32in-lbs)



INSTALLATION INSTRUCTIONS

Assemble the standard surface mounting brackets to 
the pod light of your choice. 4” 360-Series lights are 
shown in this instruction.

STEP: 1

2021+ FORD BRONCO DUAL POD A-PILLAR KIT

- (2) MOUNTS #46721

*Lights sold seperately.

PRODUCTS INCLUDE:

PACKAGE CONTENTS:

- T30 Torx bit - 13mm Ratcheting Wrench

IMPORTANT
THANK YOU FOR PURCHASING RIGID INDUSTRIES’ PRODUCTS FOR YOUR VEHICLE.

Please read through all of these Instructions and tips before proceeding with the installation. 
We do our best to provide a simple installation process for all applications however a 

professional installation is always recommended. 

Always disconnect any power sources connected to your vehicle before servicing fuses or 
electrical systems.



INSTALLATION INSTRUCTIONS

Complete installation shown in the photo 
to the right.

STEP: 3

Remove the (2) existing factory bolts with a T30 Torx. Re-use these bolts to 
install the new RIGID bracket using the supplied washer for the larger mounting 
hole. It is recommended to apply blue thread locker when 
re-installing the factory bolts. Passenger side shown in 
this instruction.

STEP: 2

Install and wire light pods according to their 
instructions. Wiring can be routed through this 
void into the engine bay.

STEP: 4

Wiring: Wire your lights according to the instructions included with the light. Take care to avoid any heat 
sources and sharp or abrasive surfaces.

Your installation is now complete. 
Welcome to the Rigid Nation!

Learn more about off-road lights we have.

https://www.carid.com/off-road-lights.html

	46722-installation-instructions
	46722-installation-instructions-2

